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1.

MATHEMATICS

In a flower bed, there are 23 rose plants
in the first row, 21 in the second, 19 in
the third and so on. There are 5 rose
plants in the last row. Then the number
of rows in the flower bed is

A) 15

B) 18

C) 10

D)9

The sum of the reciprocals of
Ms. Sonu’s ages (in years) 3 years

ago and 5 years later from now is 1.
Then Sonu’s present age is

A) 5

B) 7

C) 8

D)9

A motor boat whose speed is 18 km/h
in stil water takes 1 hour more to go
24 kmupstream than to retum downstream
to the same spot. The speed of the
stream is

A) 6 km/h
B) 7 km/h
C) 10 km/h
D} 24 km/h

Value of k if the 2 roots of the quadratic
equation kx(x — 2) + 6 = 0 are equal, is
A) §

B) 6

C) 10

D) 1

! Page No. 3

o

1. T g A A, yom off § 23 W % 08
&, 21 iR €, ded iR 198 3l
T v 3wt oft &1 sifm afe 7 5 e
¥ g €, ) g 8§ dfet ) den @
A) 15
B) 18
C) 10
D) 9

2. aaAH & 9 99 qd ik 5 af gvEE

F. W % 3y (It #) & goEn A
18, T g

A) 5
B) 7
C) 8
D) 9

3, T HieX sie Rt wia s # 7fa 18

. oft. /eieT B, o GUH I W GRS 91
24 f5 1. 9 o wma ot 8, 399 1
g1 atftr o % fRaha a9y s § S
R

A) 6 .. fee

B) 7 f.dfi. fuer

C) 10 f.Ht. /a9

D) 24 f&t. /9

4, af e ol kx(x ~2) + 6 =0F

2 e 9= E, & k A 8
A) 5
B) 6
C) 10
D) 1
1 PECE



i

5.

The pair of linesy =0 and y = -7 has
A) No solution

B) One solution

C) Infinitely many solutions

D) Two solutions

If x + 3 is a factor of x* + ax2—bx + 6
and a + b = 7 then the values of a and
b are respectively

A) 1,6
B) 0,7
C) 0,7
D) 2,5

If x -y =0and 2x — y = 2 then values
of xand y are

A) 3,3
B) 2,2
C) -2, -2
D) -3, -3

The value of k for which the system of
equations 2x -3y =1 and kx + 5y =7
have a unique soiution, is

A) k=1

B) k#10

-10
k#—
C) 3

D) any real value of k

Page No. 4

5 Wily=03Ry=—7%gua

A) ®E T AE R
B) e ?

C) sFasa €
D) e &

. ARX+axt—bx+ 6 FMTHES x+ 3%

Ma+b=7%, dasRb Famwmm &
A) 1,6
B) 0,7
C) 0,7
D) 2,5

AR Xx—y=03M2x-y=2% dix ik

y® A&
A) 3,3
B) 2,2
C) -2, -2
D) -3,-3

. k 1 T8 9 frass Ay avfiemo 2x - 3y = 1

AR kx + 5y = 7 H Worrelt 1 T AR
T M

A) k#1
B) k=10

C) k¢ﬂ

D) kemmg‘éamﬁmm

. A quadratic polynomial whose zeroes . T fammdt sigudta o 3 afe -5 %,
are3and-5is i
A) x*+2x-15 A) x2+2x-15
B) x3~2x + 15 B) x*-2x+ 15
C) x2-8x+15 C) x*-8x+ 15
D) x*+8x—15 D) x2+8x—-15

1 PECE
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10.

11.

12.

13.

Which of the following is incorrect ?

A) tan6 =3

B) sin8=3

C) sec6=3

D) cote =3

If sin (A—B) = ., cos (A + B) = —
2 2

then values of A, B are respectively

A) 15°, 15°

B) 30°, 0°

C) 45°, 15°

D) 15°, 45°

If cos@ + sind = /5 cos then
cos8 - sing =

A) 2 coso
B) V2sing
C) 0
D) 1

If tang =5 4 » then the value of

3 sing + 4 coso
3sin08 -4 cosH

2
] is equal to

A) 312
B) 302
C) 172
D) 72

10.

11.

12.

13.

Frfafes § @ f-w s 2 7
A) tane =3 .

B) sin@=3

C) sec0=3

D) coto =3

. _ 1 _ 1
afe sin (A—B) = E,cos(A+B)- 5

2, 9t A i B w1 9 A §
A) 15°, 15°

B) 30°, 0°

C) 45°, 15°

D) 15°, 45°

afe cos + sinb = /3 cosé #,
cos@ - sing =

A) 2 cosp
B) /2sin6
C) 0
D) 1

=5
(4 tane-/4 T, a‘ia
3sin0+4cosO ) _
3 sin6 — 4 cos @

A) 312
B) 302
C) 172
D) 72

1 PECE
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14.

15.

16.

ST, -

17.

18.

The arithmetic mean of a set of 40 values
is 65. If the 40 values is increased by 5,
then the mean of the new set of values
is

A) 65
B) 70
C) 60
D) can't be determined

The sum of the deviations of the
variate values 3, 4, 6, 7, 8, 14 from
their mean is

A) 1
B) 2
C) 0
D) 10

Value oftan 1°tan 2°tan 3°... . ... tan 8%°is
A) 0

B) 1

C) 89

A quadratic polynomial whose one zero
is — 5 and the product of the zeroes
is0,is

A) x? + 5x

B) x2 - 5x

C) x2+5x+5

D) x2-5x+1

The value of m so that 4x — 6x —m is
divisible by x — 3, is exact divisor of

A) 9
B) 45
C) 20
D) 36

Page No. 6

14.

15.

16.

17.

18.

40 AT ¥ U = T AU AT 65 § |
Ik 40 T F 5 @ w1 K g, @ W
T S AT &

A) 65

B) 70

C) 60

D) Frafica 1 fem s wehan

U aF 3, 4, 6, 7, 8, 14 % frami =
FH A AT

A) 1

B) 2

C) 0

D) 10

tan 1°tan2°tan3°..... tan 89° %1 AH &
A) 0 :
B) 1

C) 89

e O T — 5 3 SR Y| 1 PSS
0 &, 78 e sgeda §

A) X2+ 5x

B) x2-5x

C) x*+5x+5

D) x2—5x +1

m 1 98 AW Re fere 4x2 — 6x - m
# x — 38 i P T o; A =8
T QU1 STISRR BT |
A) 9
B) 45
C) 20
D) 36
1 PECE



19.

20.

21.

The area of a quadrant of a circle whose
circumference is 22 cm, is (in cm?)

77
A Z
B) 70
C) 100
D) 11

In the figure

and TQ are two tangents to a circle
with centre O, |POQ =110°, then

|_P_=
A) 60°
B) 70°
C) 80°
D) 90°

The angle of elevation of the top of a
tower from a point on the ground, which
is 30 m away from the foot of the tower,
is 30°. Then the height of the tower is,
(in metre)

A) %
B) 3043

C) 1043
D) 10

Page No. 7

19. 22 4.4, ofiftr % w39 F w wgafa =
goee (A2 ) 3
77
A) 5
B) 70
C) 100
D) 11

TQ#E 0 A & g9 W 3 =l tamd &,
[POQ=110°, @I [PTQ =
A) 60°

B) 70°
C) 80°

D) 90°

21. Uae W G fog @ i f6 < % emm

¥ 30 . B, T F v w = oy
30° ®, «it T A1 S=d B, (e F)

10
A

' 5
B) 30V3
C) 10V3

D) 10
1 PECE



23.

25.

26.

22,

The value of k if the points A(2, 3),
B(4, k), C(6, — 3) are collinear, is
A) 10

B) -1

C) 1

D) O

If the points A(6, 1), B(8, 2), C(9, 4),
D{p, 3) are the.vertices of a parallelogram,
taken in order, then the value of p is

A) 7
B) -7
C) 6

D) 10

. The ratio in which the line joining the

points (5, 6) and (—1, —4} is divided by
y axis is
A) 5:1
B) 3:2
C)5:2
D)1:5

ABC and BDE are two equilateral
triangles such that D is the mid point
of BC. Ratio of the areas of triangles
ABC and BDE is

A) 2:1
B) 1:2
C)4:1
D)1:4

If the first and the last term in an A.P.
are 17 and 350 respectively and the
common difference is 9 then the number
of terms is

A) 38
B) 35
C) 30
D) 40

Page No. 8

22, 7f¥ fag A(2, 3), B(4, k), C(6, — 3)
wifes §, Ak FaA &
A) 10
B) —1
C) 1
D) 0

23, 32 fg A6, 1), B(8, 2), C(9, 4),
D(p, 3) T GHMiaR Sy & g § 3
FudE, ApwWMARR
A) 7
B) -7
C) 6
D) 10

24, figait (5, 6) 3T (—1, —4) I SgAawA
TET R y 3 g e i i sl s ¢
A) 5: 1
B) 3:2
C)5:2
D) 1:5

25, ABC 3R BDE <l Gweig s 78 s &
i BC =1 weafeig D ? | gt ABC 3R
BDE % &het %I 3130 ¢
A)2:1
B) 1:2
C) 4:1
D)1:4

26. Ofe & waiat Al & wom AR Afom 9
0T: 17 31t 350 & ot amm= 3fate 9
2, A1 &1 i HE ®
A) 38
B) 35
C) 30
D) 40

1 PECE
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27.

28.

29,

30.

Mr. A and Ms, B are friends. The
probability that they both will have
different birthdays is (ignoring a leap
year)

1
365
2
365
364
©) 36z
D) 1

A)

B)

Empirical relationship between the three
measures of central tendencies is

A) 2 mean + mode = 3 median

B) median + mode =2 mean

C) mean + 2 mode = 3 median

D) mode + mean = 2 median

A cone of height 24 cm and radius of
base 6 cm is made up of modelling
clay. A child reshapes it in the form
of a sphere. Then the radius of the
sphere is

A) 6 cm

B) 8cm

C) 9cm

D) 3cm

If two cubes of volume 64 cm? are
joined end to end, then the surface
area of the resulting cuboid is

A) 128 cm?
B) 160 cm?
C) 162 cm?
D) 64 cm?

Page No. 9

27.

28.

29,

30.

$t A i g. B fim € | I wfefy
3= 8 i wilRrewar @ (efiw o it o
)

A)‘I

365
2
365
364
C) 365
D) 1

B)

3 ygfat it v wi & s s
ey ¢

A) 2 ATeq + geTE = 3 I

B) TSt + wger® = 2 WIel

C) HIeq + 2 Fgersh = 3 Wifedra

D) wIgeT + WTeT = 2 wifedem

wiowqw gt & 59w g hit S 24
a5t sl emm A e M. 2 1w
AT I YA Teh TS T 31T 3aT & |
Tiret st e a7

A) 6.4t

B) 8 &.1f.

C) 9¥ 1,

D) 3u.1.

Ife 64 @412 379a= % I == H F"
% Rl & s faan man R, < aftorft wmmy
F1 Y e B

A) 128 §.41.2

B) 160 @.1i.2

C) 162 9.1f1.2

D) 64 9.#.2

1 PECE
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34.

-

31.

32.

33.

{sec A+tan A) (1 —sin A) =
A) sec A

B) sin A

C) cosec A

D) cos A

Value of sin2.63° + 8in2 27° is
A) O
B) 1

C)

MW |-

D)

If sin 2A = 2sin A, then A =
A) 0°

B) 30°

C) 45°

D) 60°

If cotd = 78' then the value of

(1+sin@) (1-sinb)
(1+cos8) (1-cos8)

A) 6%9

50
84
49
64
D) 1

is

B)

C)

A) sec A
B) sin A
C) cosec A
D) cos A

32. sin263° + SN2 27° HAF &
A) 0
B) 1

C)

D)

A) 0°
B) 30°
C) 45°
D) 60°

34, afe cotB:% g, @

(1+5sin6)(1-sinB)
(1+cos8)(1-cos6)

A) 64 49

50
84
49
64
D) 1

Page No. 10 |

B)

C)

31. (secA+tan A) (1 —sin A} =

33, gfisin2A =2sin AR, WA=

LIk

1 PECE
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35. The sum of first 15 multiples of 8 is
A) 240
B) 960
C) 800
D) 680

36. A sum of Rs. 700 is to be used to give
seven cash-prizes to students of a
school for their academic excellence.
If each prize is Rs. 20/iess than its

preceding prize then first prize amount

Is

A) Rs. 140
B) Rs. 150
C) Rs. 160
D) Rs. 120

37. The number of 3 digit numbérs
divisible by 7 is

A) 126
B) 128
C) 130
D) 127

38. The 20™term from:the last term of the
sequence 3, 8, 13, ..., 253 is

A) 140
B) 158
C) 98
D) 90

Page No. 11

35. 8 % WU 15 OIS 1 AT R
A) 240
~ B) 960
C) 800
D) 690

36. %. 700 it Ukt us faemer & fenfigi =
I7eht Dreforr IuafEt & o @ =
TR 34 & fore s ) i | 9l vl
TR 39 98 R § &. 20 4 o,
A oI QUERR <t T 0 Bt ?

A) %. 140
B) ®. 150
C) . 160
D) . 120

37. o o7t it foraft wead 7 @ s & 7
A) 126
B) 128
C) 130
D) 127

38. g@e 3, 8, 13,....., 253 F IM T A
20afwE &

A) 140
B) 158
C) 98
D) 90
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39.

40.

41.

42.

Two consecutive odd positive numbers,
such that sum of whose squares is 290,
are

A) 11,13
B) 9, 11

C) 13,15
D) 19, 17

The value of k so that the following
system of equations 3x—y + 5 =0 and
6x — 2y + k = 0 has no solution is

A) k=1
B) k=1

C) k=10
D) k = 10

The value of k for which the lines
3x + 4y =5 and 5x + 4y = 4 and
kx + 4y = 6 meet at a point is

A) 1
B) 2
C) 3
D) 4

Which of the following cannot be the
difference between a two digit number
and the number obtained

by interchanging the digits ?

A) 72
B) 36
C) 54
D) 48

39.

40.

41,

42.

A D) 48

g FER faen veTene st 5y e 3
o6 37% =il @ 4m 290 2, <t 7% wEAnt §

A} 11,13
B) 9, 11

C) 13,15
D) 19, 17

k =1 98 AT fo@es o wefter
3X-y+5=03M6x~2y+k=0H
YOI 1 1 g T &)

A) k =1

B) k=1

C) k=10

D) k = 10

k %1 38 T fored fore Y@md 3x + 4y = 5,
5x + 4y = 4 S kx + dy = 6 T € fag
R firerht &

A) 1

B) 2

C) 3

D) 4

PrerfoRaa 3@ < a1 S o Hrae
3T 37t 1 T 39 wRE T wEn
o=t T % off 1 ofa Tl B g 7

A) 72
B) 36
C) 54

1 PECE
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43. If AABC is right angled at C, then the 43. 9f¢ AABC, C ut grehivity §,
value of cos (A + B) is dicos (A +B)FIAME
A) 1 A) 1
B) O B) 0
1 1
C) — —
) 2 C) 5
D) IS— V3
2 - ry
44, If secA + tanA = x, then tanA = 44. f secA + tanA = x 2, A tanA =
2
A 2
’ é A %
B) — 1
BY —
2x ) 2X
2
x* -1 2 -
2X 2%
2x 2x
D
) x? -1 D) x2 -1
45. If sin@ = /3 cos8, 0 < < 90°, then 6 45, 4fE sin = /3 cosh, 0 < § < 90° ¢,
is equal to qo=
A) 30° A) 30°
B) 45° B) 45°
C) 60° C) 60°
D) 90° D) 90°
46. If tan20 + cot?0 = 2, 0 is an acute 46. % tan2 + cot?d = 2, § TH = FI g,
angle, then tan® + cof®0 is equal to @l tan®e + cot®0 =
A) 2 A) 2
B) 3 B) 3
C) 4 C) 4
D) 8 D) 8
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47.

48,

49.

50.

2 men and 7 boys can do a piece of
work in 4 days. 4 men and 4 boys can
do the same work in 3 days. Then

the number of days a boy takes to
complete the same job is

A) 50 days
B) 60 days
C) 30 days‘
D) 55 days

In an examination, one mark is awarded
for every correct answer, while % mark
is deducted for every wrong answer.
If a student gets 90 marks by answering
120 questions then how many questions
did she answer correctly ?

A) 96
B) 100
C) 90
D) 95
) a2 2
If x=asin 8, y =btan 8, then F—FF
A) O
B) 1
C) -1

1
D)E

Sides of 2 similar triangles are in the
ratio 3 : 7. Areas of these triangles are
in the ratio

A) 9:35
B) 9:49 -
C) 49:9
D) 9:42

Page No. 14

47.

48.

49.

50.

2 3T1eHt 3R 7 % UF Fd @ 4 R i
FHHA & | 4 g} 3iK 4 TiF =t w5
it 3 R o g € | 9 o we It
wW & e A d o asm d ¢

A) 50 fam

B) 60 fam

C) 30

D) 55w

T Tt #, T 6el IW S fag 1 3w
Tt st 2, s e e IWCF g
% e e foran st # | R u e
=1 120 T} % IR A T 90 3 M g,
Y 39 fore ST b1 ot I fe 7
A) 96
B) 100
C) 90
D) 95
ﬂﬁx:asinﬁ,y:btanﬁ,??l%—i——?—i:
A) 0
B) 1
C) -1
1

D)3
QT sl F g 3 : 7 F o i E |
I BRIt % &t ST ITATT T €N 7
A) 9:35
B) 9:49
C) 49:9
D) 9:42

1 PECE
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51.

52,

53.

54,

55.

CHEMISTRY o
Kurkure packet's empty space is filled 51. TG % e 1 et v o tfR g
with an inert gas, inorder to prevent it WO S € 98 30 AT H
from o ferm T @ 1
A) Reduction A) UEE
B) Oxidation B) ST=H
C) Oxidation-reduction C) S=EHE-HA=IH
D) Precipitation D) srEguw
Transparent photographic films 52, WehIT % €U o 7 T Ryl wremnihs
gradually change their colour when @ w1 O -+t wfafda B smar @
exposed to light due to | FFERUEAE |
A) Combination reaction A) THISA TSR
B) Thermal decomposition B) F=fi fadiem
C) Oxidation reaction C) 3u=R tfifsEn
D) Displacement reaction D) fereura arfirfsean
Alumninium when exposed to O, 53. TegHiEs O, ¥ ATgHSH & WY # M
atmosphere, formation of AlL,O, is FARCALO.TEIY a8 S
observed. ltis A) mmzl 3
A) Corrosion .
B) Rusting SISl
C) Decomposition C) feritert
D) Rancidity D) =i g
When blue coloured CuSO, crystals 54, 5@ il T1 &% CuSO, et i fmn
is heated, it gives a white amorphous ST ® A UF g% W 39 e € |
solid. This white solid is !

I e 319 &

A) CuSO, - H,0 A) CuSO, - H,0
B) CuSO, B) CuSO,
C) CuO C) CuO
D) CuCO, D) CuCO,
Colour of phenolphthalein in acidic 55. anfia wreaw 8 featoefifer o am @
medium
A) Pink A) Te
B) Yellow B) e
C) Colourless C) T
D) Orange D) ot



56.

57.

58.

59.

60.

Second highest electronegative
element in periodic table

A) Fluorine
B) Chlorine
C) Oxygen
D) Nitrogen

The element with half filled outermost
electronic configuration

A) Aluminium
B) Magnesium
C) Boron

D) Nitrogen

The order of effective nuclear charge is
A) LicNa<K<Hb
B) Li>Na>K=>Rb
C) LicK<Na<Rb
D) Li<cRb<K<Na

Triad among the following is
A) H, F, Cl

B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH is stronger base than LiOH. The
reason is

A) Li is highly reactive

B) Atomic size of Liis less
C) K is highly reactive

D) Atomic size of K is more

Page No. 16

56.

57.

58.

59.

60.

37ef qita ey S e et
Gich

A) Tephifad
B) Awfiftrem
C) &M

D) AgEIeH

et Sk ST 1 8
A) Li<cNa<K<Rb
B) Li>Na>K=>Rb
C) LicK<Na<Rb
D) Li<cRb<K<Na

feafafa d d s g
A) H, F, Cl

B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH, LiOH i arden nifRemeh W 2,
TEH BT B

A) Li 37edq srffsrmsfiar 8

B) Li =1 HATY] ATHT FH &

C) K 3rcia arfifsranticT @

D) K =1 W] SRR e B

1 PECE



61.

62.

63.

64.

65.

Hydrolysis of an Ester in presence of
alkali is called

A) Esterification
B) Saponification
C) Substitution
D) Addition

Vegetable oils usually contain
A) Unsaturated fatty acids

B) Carboxylic acids

C) Saturated fatty acids

D) Glacial acetic acid

Hard water forms scum with soap,
due to the presence of

A) CH,COOH
B) NaOH

C) Ca(OH),
D) CaCl,

Hydrophobic end of micelle is soluble
in hydrocarbon because it is

A) Non-polar
B) Polar
C) lonic
D) Covalent

Compound which does not belong to
the homologous series

A) CH,0

B) C,H,0
C) C,H,O
D) C,H,0
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61.

62.

63.

64.

65.

Feshel! i Iufefa § T et @ weha-
HYGER FHEA &
A) TEE

B) i
C) witreeamg=
D) dehe

TAEfe o o WH: BT 8
A) T FET HA

B) weifafereh 3T

C) dgw 5«1 37

D) iR wffes sva

R I WIS S WY TS S 8,
I8 FFAE |

A) CH,COOH

B) NaOH

C) Ca(OH),

D) CaCl,

e = Sefeie ofa T o
goehicT & Fifh I8
A) sgfa &
B) gam
C) s g
D) weEash
3 Afire S wwTd Een § T8
A) CH,0
B) CH,,0
C) CH,0
D) C,H,0
1 PECE



66.

67.

68.

69.

70.

Colour of Taj Mahal in Agra is
changed due to

A) Sunlight

B) Acid rain
C) Slaked lime
D) Corrosion

Antacids are used to remove
A) Body pain

B) Acidity

C) Basicity

D) Headache

Chemical compound present in tooth
paste is

A) Basic - Ca,(PO,),
B) Acidic - Ca,{PO,),
C) Basic — Ca(HCO,),
D) Salt—Ca,P,

pH of orange juice is
A) 2.00-2.35

B) 3.12-3.33

C) 3.00-3.75

D) 3.3-4.19

‘Acid which helps for the digestion is
A) Amino acid |
B) Hydrochloric acid
C) Acetic acid

D) Citric acid

66.

67.

68.

69.

70.

D) fife= st

S A TATHER F T E]
] gREfia 8 TR |

A) 4
B) 7rAad

C) s
D) H&mu

e W &M & foe

WREAE |

A) TRA R

B) sr=digal

C) afEar

D) fares

Faeer 7 Iufedra vamafaen 9 &
A) &i{T - Ca,(PO,),

B) a1 — Ca,(PO,),

C) & — Ca(HCO,),

D) @=w - Ca,P,

T F@H pHE
A) 2.00 —2.35

B) 3.12-3.33
C). 3.00-3.75
D) 3.3-4.19

U # WeE S ATl 3T §
A) STHHY A

B) TEgiERiING 3w

C) ufafew 3
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71.

72.

73.

74.

75.

Allotrope of carbon which posses high
melting point

A) Graphite
B) Fullerene
C} Coke

D) Diamond

The compound gives a sooty flame on
burning :

A) CH,
B) C,H,
C) C,H,
D) C,H,

Addition of hydrogen to alkene in
presence of nickel catalyst is

A) Reduction

B) Oxidation

C) Addition and Elimination

D) Substitution

A compound ‘A’ with formula C,H,O
possess two structural isomers.

On Oxidation it produces an acid.
Compound A is

A) 1-Propanal
B) 2-Propanone
C) 1-Propanol
D) 2-Propanal

Poisonous organic compound present
in denatured rectified spirit is

A) Ethyl alcohol
B) Methyl alcohol
C) Ethanoic acid
D) Formic acid
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71.

72.

73.

74.

75.

e T AN9E Foreent 3= e &
A) THEE '

B) wgeH

C) ®is

D) €

a8 A < oM W O it seren ot @
A) CH,
B) C,H,
C) C,H,
D) CH,

Fipet S Y Iufefa # s &
e AT #)
A) 9IET

B) 39w

C) der T Froem

D) witeems

@ At A’ e g3 CH,0 #, su&
T TS GHTEEE & | ST W AR O
AT R | Am AR

A) 1-5%E

B) 2-wuHi

C) 1-Wri=ia

D) 2-9iU e

e Wi fife & ofdm faten
S e &
A) UTET Aehiga
B) frarw swehigiar
C) 3o o7
D) wifife 3t
1 PECE



77.

78.

79.

80.

. Method used to prevent the corrosion 76. TR & Herror =i Ao & fe 9T
of Aluminium $H A g fafr
A) Galvanisation A) i
B) Anodizing B) SggRiaIT
C) Tinning C) 7 6 wa =g
D) Cathodic Protection D) Fagriim
Metal ‘A’ reacts with dil. HNO, and 77. |rg A a3 HNO, % wre i emgie
liberates hydrogen. A is mm% AR
A) Mg A) Mg
B) Ag B) Ag
C) Cu C) Cu
D) Au D) Au
The metal which is highly reactive 78. g U1 it T iR @
A) Hg A) Hg
B) zZn B) Zn
C) Pb C) Pb
D) Al D) Al
Among the following the Polar 79. Freffaa 8 & e 9w 2
compound is A) Ffe
A) Kerosene B) -
B) Alcohol
C) Benzene C) =i
D) Gasoline D) A
Metals can be extracted easily and 80. Hgait et fFsaor Y
economically from AT AT |
A) Mineral A) @t
B) Metallic compound B) wnfers M
C) Ore C) W
D) Rock D) *EM



m\w

81.

82.

83.

84,

85.

The process of formation of covalent
bonds with other atoms to form long
chains is called

A) Addition

B) Coordination
C) Catenation

D) Polymerisation

CH,COOH + €HOH _X_,
CH,COOC,H, + H,0 ; X i
A) H,SO,

B) NaOH

C) KMnO,

D) Ni

Modern periodic law is based on
A) Atomic mass

B) Mass number

C) Atomic number

D) Electronic configuration

In Mandeleev's periodic table elements
with atomic numbers 18, 35 belongs to
which group ?

A) Group |

B) Group lli
C) Group V
D) Group VII

The element which is electropositive
in nature

A) Sulphur
B) Silicon
C) Boron

D) Copper
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81.

82.

83.

84.

85.

I TS & q19 TEHIIR T4 SR
el e T Y SfRaT weed &

A) HeheH

B) w9

C) &M

D) wgeh=tor

CH,COOH + CH.OH _X ,
CH,COOCH, + H,0; X ?

A) H,SO,

B) NaOH

C) KMnO,

D) Ni

ek e e R
ARG & |

A) IO MR
B) SR &

C) TR &A1
D) eI fa=ma

Heella it amvas are § 18, 35 THY
eI T e aE € 7

A) ¢ |

B) &g Il

C) g V

D) wmg VIl

Fg 7 forae e forga o @
A) TER
B) frefteia
C) aRH
D) @
1 PECE
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86.

87.

88.

89.

90.

Burning of Mg in air is
A) Physical change
B) Chemical change
C) Sublimation

D) Oxidation-reduction

Reaction of marble with atmospheric
humidity and CO, to form slaked lime
is an example for

A) Decomposition reaction
B) Displacement reaction
C) Combination reaction
D) Redox reaction

A compound X reacts with CO,
present in air to form Y. Y on
decomposition produces an oxide.
The compound X is

A) CaCO,

B) CaO

C) Ca(HCO,),
D) Ca(OH),

Barium can displace which element
from its sulphate ?

A) Sodium
B) Caesium
C) Aluminium
D) Hydrogen

Dissolution of glucose is
A) Endothermic reaction
B} Exothermic reaction
C) Redox reaction

D) Displacement reaction
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86.

87.

88.

89.

90.

Briifiram ot g9 | ST 8
A) ¥iifde afEea

B) e ufEdT

C) JeEqTeT

D) I9=d -9

WO <kt Argeet T 3 CO, %
|re TR ek ST ST JaTe §
A) R stiifear =

B) faemum atfufsren =1

C) wae afvfsn =

D) ==y St #

o Rk X, a1y & I9fm CO, & |y
Afufsmn w66 Y T @ | 7w & 91
Y T SHATEES o0 Far & | A X #

A) CaCO,

B) CaO

C) Ca(HCO,),
D) Ca(OH),

fEm fore o %) 39S g § g
T AHATE ?

A) difsam
B) *frm
C) Tt
D) TRgH

ORI ol fEe @

A) Swaren afrfsm

B) gt a1firfsan
C) Syu=a=R sifufsran
D) foreemm sifufsmn

1 PECE
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91.

92.

93.

94.

95.

Water of crystallisation is not present in
A) Washing soda

B) Baking soda

C) Soda lime

D) Gypsum

Plaster of Paris is
A) CaSO, - 2H,0
B) CaSO,- ¥%:H,0
C) CaSO, - 5H,0
D) CaSO,-H,0

Acetic acid reacts with_ NaOH to
produce a salt, whose pH is

A) Less than 7
B) Equalto 7

C) More than 7
D) Equalto 14

The gas liberated when a metal is
treated with acid or base

A) Oxygen
B) Nitrogen
C) Chlorine
D) Hydrogen

High ductility is observed in
A) Na
B) Fe
C) Au
D) Mg

i Page No. 23

o1.

92.

93.

94,

95.

Toreecttetor st 7 & g |
A) e el

B) @M w1 |1 (afd Fren)

C) S w1t

D)

TRt 3% Ui ®
A) CaSO, - 2H,0
B) CaSO,- %H,0
C) CaSO, - 5H,0
D) CaSO,-H,0

i tfrg NaOH & o sifufran st
T T ST 2, e pH §

A) 78 FH

B) 7 % SR

C) 71 ferh

D) 14 & SRR

T TG Y ST AT HW ¥ I W AR W
A Fperdt &

A) TS

B) ATggeH

C) FARH

D) TEgIeH

T 3= a=yaT 978 AT 2 |
A} Na '
B) Fe
C) Au
D) Mg

1 PECE
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96.

97.

98.

99.

100.

Metal which is found in its native state 96. T8 T St 3T T ¥ H AT AH B
A) Pt A) Pt

B) Cu B) Cu

C) Fe C) Fe

D) Ag D) Ag

When brass is exposed to air for a 97. 5 fiact I o a9 & ¢ T ¥F T
long period of time it turns to green 1 v <t 8, @ IEE W C
due to the FROA TR TR |

A) Formation of Cu(OH), A) Cu(OH)ziFﬁ

B) Formation of CuSO, B) CuSO, &

C) Formation of CuCO, C) CuCOaaT:’f

D) Formation of Cu,0 D) Cuz,'OEFﬁ

Alloy used for welding purpose 98, TS 3 foyw vt <Y et fErereg ?
consists of A) T AR P

A) Lead and Tin

B) Lead and Bismuth B) ¥t UL

C) Lead and Antimony C) ¥ 31K R

D) Lead and Copper D) ¥iw 3 e

Liquid non-metal among the following 99. fr=fiRaa # & T U 2

A) Br A) Br

B) Te B) Te

C) Hg C) Hg

D) | D) |

Brass is the alloy of 100. Haa $ g e |

A) Cuand Sn A) Cu 3l Sn

B) Niand Cr B) Ni3fit Cr

C) Cuand Zn C) Cu 3R Zn

D) Pb and Sn D) Pb 3t Sn



101.

102.

103.

104.

PHYSICS

What is the colour of sky viewed from
surface of the moon ?

A) Red
B) Blue
C) White
D) Black

An object of 5 cm in size is placed
at a distance of 20 cm from concave
mirror of focal length 15'cm, what is
the nature of the image ?

A) Real, inverted, enlarged

B) Real, erect, diminished

C) Virtual, inverted, diminished
D) Virtual, erect, diminished

A light of wavelength 750 nm in air
enters glass slab of refractive index
1.5. The change in wavelength of light
is approximately

A} 500 nm
B) 250 nm
C) 750 nm
D) 1250 nm

There are two lenses. One is convex
of focal length 20 cm and another is
concave of focal length 25 cm. What
is focal length of the combination ?

A) 0.01cm
B) 100 cm
C) 10cm
D} 1cm
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101.

102.

103.

104.

“iiferes =

T & TG 9 SEA T TN T
TR !
A) 9
B) fren
C) w4
D) el

15 9.7, wieH gt a1 3vaqw =9 4
20 8.1, Ft g0t W 5 .M. F S et
T 9% Wt B, vhdifea fi wwfa 7= ?
A) arefeEs, 3T, 98T

B) arfass, diwn, i

C) s, 3eel, Bl

D) v, Hiem, B

g § 750 et atrdwdar aen
YT 1.5 ATEAHIE 91 HiF H T J
AV T & | Fehie ot qoeedar o s
e &

A) 500 Frtet

B) 250 ¥Htex

C) 750 JArfiex

D) 1250 {4

ATEE | 20 QA I wwEgh W
U & o gma 25 A frwFa g
A 3 | T U P gh T
st ?

A) 0.019.1i,

B) 100 §.4t.

C) 1091,

D) 131

1 PECE



105.

106.

107.

108.

According to Ohm's law, V = IR

A) VaR
B) laR

1
C) Vaﬁ

D) Val

On which of the following factors
resistance of the wire depends ?

A) Area of the cross section
B) Length

C) Temperature

D) All of the above

Device used to regulate the current in
a electric circuit is

A) Transformer
B) Voltmeter
C) Rheostat

D) Galvanometer

Across a metallic conductor of non-
uniform cross-section, a constant
potential difference is applied. The
quantity which remains constant along
the conductor is

A) Current

B) Resistance

C) Electric field
D) Current density

D) frgaumq v

105. 3iven ¥ Frm F IR, V=IR
A) VaR
B) laR

1
Va—
C) as

D) Val

106. TR e Fr=fafea # @ fra s W
feftwma e ?

A) I HIE H AT
B) w1
C) amNHH

D) I wft

107. w g wfbe 1 forgarara it Ferfi
¥ for iy v T T 4 B

A) ¥

B) FieeHiX
C) uw s
D) At

108, ST ST FZ 5 Teh Ufearah =i o
o FR RnvaieR s v & | Sl <
< e TRRwaT ®

A) fergaura
B) wfetiy

C) fxm &=

1 PECE
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109. How many 400 Q resistors are required | 109. 200 VTR A3 5 Wl Rgaama it

to carry § ampere of current connected T T & R 400 Q & Rrad sfdras
0 200 V line ? Y SR gt ?

A) 20 A) 20

B) 5 B) S

C) 1 C) 1

D) 10 ' D) 10

110. Express which of the following setups 110. Tise i, fgn & Fam % e & fag

can be used to verify Ohm'’s law. fr=forfa 3 @ - s wdm s
e ?
(A
A por—— ®—
Iy A g % GF
L

—o—
MA
_ o—
T
3

B) (?)
i | ‘ ll—

C)% 2 C)% 3

3,
8'9'
3,

LG
?
% ©
?

®
®
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111,

112.

113.

114.

A wire of resistance 8 ohm is bent in
the form of a closed circle. What is the
effective resistance between point A
andB ?

B

20°

A 2o
3

3
B) 5 @
c) 4o
3
D) 3o
4

An electric heater is rated at 1 kW.
Calculate the heat produced per hour.

A) 1000 J

B) 3600 J

C) 3600 x 10°J
D) 60J

S. . unit of resistivity
A) ampere

B) coulomb

C) ohm

D) ohm meter

Two heaters A and B, rated 200W at
220V and 40W at 220V respectively, are
connected in parallel to 220V supply.
Calculate current drawn by heater B.

A) 0.64 A

B) 0.91 A

C) 0.182 A
D) 1A
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111.

112.

113.

114.

8 3itgH TR et Th aR Y g T
5 g0 R T ? | fig A s B & o

oy sRRu R R 7
B

90°

E
o)

o 0 =
RlwL|h MW LN
o] o]

@)

w e et 1 kW swin T e | S

HeT JeaTfee ST Y 0T L |
A) 1000 J

B) 3600J

C) 3600 x 10° J

D) 60J

TRRuFar 6 S. . TR ©
A) T .

B) &eld

C) ¥rem

D) Mg e

A 31 B 31 et sHHIT: 220V W 200W 3R
220V T 40W I 77T & 3 98 220V
T @ TR ® S T E | €U B EW
foremreht ST el RregaeT R O R |
A) 0.64 A

B) 0.91 A

C) 0.182 A

D) 1A

1 PECE



115,

116.

117,

118.

119.

Power of the lens suggested by
ophthalmologist is +2.5D, then

A) f=2.5 cm, convex lens
B) f =40 cm, concave lens
C) f=40cm, convex lens
D) f=2.5 cm, concave lens

The amount of light entering the
human eye is controlled by

A) lris

B) Cornea

C) Retina

D) Pupil

The eye defect in which far point shift
nearer than infinity is

A) Far sightedness
B) Cataract

C) Short sightedness
D) Presbyopia

A person holds newspaper far from
his eyes to read it comfortably, then
he has

A) Cataract

B) Presbyopia
C) Hypermetropia
D});Myopia

In dispersion of white light through

glass prism, it is observed that violet

colour bends more and red colour
bends less, then

A) Wavelength of all colours same
B) lviolat g A'terl
C) A > Mo

D) Bending does not depend on
wavelength

115.

116.

117.

118.

119.

Page No. 29

¥ vy T &iw i wifRy +2.5D ward
T8,

A) f=2581., A dT

B) f=40A.7., 3Eqd ©i¥

C) f=409.1f., STa @

D) f=2.5a.1., amae oig

WG A § wa9T A 9l gen 6w

_ TmufEbmEdii
A) giafenr
B) vaques

C) giaea
D) i@ i gaeft

78 gfee S e gew g o7 @ e
3T ST ®

A) T g
B) wifeanfeie

C) free g

D) SRl

Teh S HHTSRYS ) esidl U 9g4 & felg
it & vt vean 2, 913 2
A) Mg

B) I gfeean

C) g gfea

D) fiehe gisedm

i 3 firow o e 3 v wemer 3 oo
% 78 aran siar @ o St sftre e
ol A W FH ggat &, @
A) wft Tt i Toneear wE ?
B) ).iﬁ>1.m
C) A__>A,,
D) g wreestan W it 7 e
1 PECE
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120. Inthe circuit beiow, the ammeter and

121.

122.

the voltmeter reading are 6A and
12V respectively, then the value of

resistance R is
N N
- \A/ e

O
A) >20Q

B) =2Q

C) 2Q

D) <2Q

In a conductor, 1500 coulombs of
charges enter and 1500 coulombs of
charges exit in 5 min, then current is

A) 300 ampere
B) § ampere
C) zero

D) 1 ampere

Two wires of same material having

length and radii in the ratio 3 : 4 and

3.: 2 respectively, are connected in
parallel-with a battery of 6V, the ratio
of currents is

A)1:3
B) 3:1
C)1:2
D)2:1

Page No. 30

120. #= fo 7w Afde §, snfiet ik Aeeiet

121,

122.

FR0 T 71 ST ST 6A R 12V R,
AR RFTAE ©

o——-@-—NV\——o

O

A) >2Q
B) =22Q
C) 2Q

D) <2Q

w 9T 8, 5 e #1500 O &
A vaT A § 3Pt 1500 FeiE 3 S
Frrem €, o forgauma 8

A) 300 TfiTR
B) 5 UdRR
C) A

D) 1t

T verel & &) AR R war S B
%1 o7 A 3 ¢ 4 3fR.3 :2 § 3l
T8 6V #) T 9l & Wi 7 8 X,
fremumaatt =1 oTgur @ -
A)1:3

B) 3:1

C)1:2

D) 2:1
1 PECE
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123.

124.

125.

126.

If refractive index of water with respect
to air is % then refractive index of air

with respect to water is
A) 4x3
B) 3

4
o s
3
o g

A person requires a lens of power
~0.50D so where is his far point ?

A) 0.5m
B) 4m
C)2m

D) 1 m
4

Near point of an eye suffering from
long sightedness is

A) 25 cm
B) <25cm
C) >25cm
D) at infinity

When 1J of work is done in moving a

charge of 1 coulomb from one point A

to another point B in a electric circuit,

then it refers to the following

A) 1 ampere current between point A
and B

B) 1V of potential difference between
point A and B

C) 1.6 x 10~ coloumb of charge
between point A and B

D) None of the above

123.

124.

125.

126.

Page No. 31

aﬁalgﬁaawama?hm 8, @ v
| 9T 1 YT §

A) 4x3

3

B 2
4
C)\/-;
o

T sl @ —0.50D wifdT ¥ & 6
AT 2, ) T ghew g i g 7
A) 0.5 .

B) 4.

C) 2.

D) %n‘i

TR ufra w A7 o fere fog @
A) 25 9.4

B) <25%.1.

C) >25u.4,
D) 3Hd W

qasﬁ‘gaa%ahmaqﬁmaﬁﬁaA
Afg BT AT E 1) 56 dard, Mae
Fefafes a wefifa 2 )

A) fiig A 3 B % e 1 QiR fareg wm
B) foig A 37k B % 9 1V % favaian

C) fig A 3R B % 19 1.6 x 10-** Feim
Eafcich

D) swfwa § @ =% 7
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*127. V-I graph of experiments on series
and parallel combinations of two given
resistors R, and R, shown below.

I

v ' parallel

4 serles

— ———

series

b
>

V—o»
Fig. (ii)
Which graph is/are correctly labeled ?
A) Only Fig. (i)
B) Only Fig. (ii)
C) Both Fig. (i) and Fig. (ii)
D} None of the above

128. In the given circuit diagram, reading in
the voltmeter is

127. féq T R fdias R, 3l R, ¥ g@en ik
AR "G T & V-l T AR
Remmrg |

y

"
=

vV—

ST (ii)
FH-T1 T T FafRa & ?
A) Fael STF (i)
B) e i (ii)
C) =t sl (i) 3 el (i)
D) Svgw # & w7

128. feu g ufde sma A, dieedie gro auih
T dE §

1ov 10V
|| [
|’ - X - <
2Q 4Q 60 ol 2Q 4Q 6Q (é
MA MA_ MA___ MWLM M
A) 12V A) 12V
B) 10V B) 10V
C)s5v C)5V
D) 0.833 V D) 0.833 V

D Page No. 32
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129. In a small electric plant at your home, 129. 319 R # & o1 frga w43 § 45 kJ
45 kJ energy is generated. Then how Tl SeTfed Bt & | G oNT U 45W
long you can power a incandescent S T et 2
bulb of 45W approximately ? 5] R T B
A) 45 min. A) 45 fifie
B) 16.67 min. B) 16.67 ffe
C) 20.25 min. C) 20.25 e
D) 45 sec. D) 45 &g

130. A student obtained following graph : 130. U= foreneff ) Feffae o fremar @

T A —————— dp———— —
. I i
I 0T - I T = _ I !
[ I
2 __________
(mA) Lo (mA) o
i ! i I | |
] 1 I ] | ]
2 4 6 8 2 4 6 B
V(Volt) —— Vv (die) ——>
so resistance of resistor is at wierieres o wfedy 8
A) 2Q A)2Q
B) 2kQ B) 2 kQ
C) 020 C) 020
D) 200 D) 200

131. Which one of the following is not true 131. e &= W@edt & o & dey o
about properties of magnetic field fefafar d a P-sTaa a2 ?
lines ?

A) 3 370 g3 & Fercerd & o it ya
A) They come out from north pole and .
go into south pole _
B) They form closed loops B) & s i sF
C) They intersect when two magnets C) el & goreh 1@ Wi § At 3 Whrdg
are kept FA &
D) They are closely spaced in the D) J wifsremett gaeh & ¥ @ga T -g™

1 PECE
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132.

133.

134.

135.

An electric fuse is based on

A} The chemical effect of the current
B} The magnetic effect of the current
C) The heating effect of the current
D) None of the above

The purpose of glass cover on top of
a box type solar cooker is to

A) Allow one to see the food being
cooked

B) Allow more sunlight into box
C) Prevent dust from entering box
D) Reduce heat loss by radiation

To work properly, wind-glectric
generators used wind speeds of
atleast about

A) 1.5 km/h
B) 15 km/
C) 150 km/h
D) 1500 km/h

Which energy from the following are
derived from the sun ?

i. Nuclear energy

ii. Wind energy

iii. Biomass energy

iv. Ocean thermal energy
A) ii and iii

B) i, iii and iv

C) iv, ii, iii

D) iand iii
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132.

133.

134.

135.

T forege W e @

A) Frgaam & varfis e w
B) Rrgaum F e v w
C) fergaamu & sefy ya W
D) 3Iwgaa & & =1d

U 9 YR & HR e & i W s

% 3T T IR |

A) TH H v T 3@ F Rig

B) e 7 a1t €t srebrwt 9 % R

C) wiew & g5t 91 9 5t & e

D) ffFw s s W T w3 $
forg

Wt it e e % fRve, - Rrga wf
A T ot 51 7ifer
T FE E |

A) 1.5 5. /g

B) 15 f&. 4. /e=r

C) 150 f.#t. feer

D) 1500 f.4t. /xiey

Frrfmaa § @S- ool g ¥ o
AR 7

i. TR St

ii. T S

iii. SR

iv. PR S Fert

A) i 3 iii

B) i, iii 3 iv

C) v, i, iii

D) i i

1 PECE
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136.

137.

138.

139.

Select correct option from the following
about, nature and distance of the image
formed by plane mirror.

A) Real, inverted and at the same
distance as object in front of the
mirror

B) Virtual, erect and at the same distance
as object behind the plane mirror

C) Virtual, erect and at a distance
smaller than the object distance
behind the piane mirror

D) Virtual, erect and at a distance larger
than the object distance behind the
plane mirror

To get virtual image of an object by a
concave, the object should be placed at

A) Centre of the curvature

B) Between centre of curvature and
principle focus

C) Principle focus
D) Between principle focus and pole

To get powerful parallel beam of light,
head light of vehicles have

A) Concave lens
B) ' Concave mirror
C) Convex lens
D) Plane mirror

What type of mirror is used to get
virtual.and erect image always ?

A) Plane mirror
B) Convex mirror
C) Concave mirror
D) Both A) and B)
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136.

137.

138.

139.

aae gdu g fAftla sfafes 6 wef s

T & day ¥ fafifea § @ v ey

T |

A) arEfaeh, Ieer 3R vl & §ne 9%g
gl % g g W

B) o, Hita 3R wHaw v % 9 a5y
$1 g F e g W

C) mﬁﬁ,mmﬁtma&m%%m
FNPIAFAFE R

D) amrelt, wiur ot wmae gdu & fid ag
Fighaatmdiw

T AT ST Teh g o1 SAHTH wicfee
e S F T g it gt
e |

A) T g W

B) 5hal g 3R T4 HiFH & 9

C) T&I HiFd |

D) & wishy 3k ga & o=

T i SIS TR Ry T
% fo7u aveAT Y T W g
A) rEad "

B) 37ardet guvI

C) U« guor

D) Twas gdur

geg it R e vl e = &
o o e o edur s ff R ST ® 7
A) FHad T
B) Ivat gdur
C) 3raad v
D) A) 3iR B) g

1 PECE



140.

141.

142.

In an experiment, a current carrying
conductor is kept parallel to the
magnetic needle on a compass. If the
direction of the current is from south
to north then,

A) North pole of the needle turns
towards west

B) South pole turns toward west
C) Needle does not move
D) North pole turns towards east

For a long, straight current carrying
wire, the strength of the magnetic field

l. is depend on nature of material of
wire
Il. is directly proportional to current

lll. is inversely proportional to
distance

A) | and lll are correct
B) land Il are correct

C) Il and llI are correct
D) All are correct

The direction of the force on a current
carrying wire placed in a magnetic
field depends on

A) The direction of the current but not
on the direction of the field

B) The direction of the field but not on
the direction of current

C) The direction of the current as well
as the direction of the field

D) Neither the direction of the current
nor the direction of the field
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140.

41,

142.

T YA 1, U R ST 9ies #) T

HITE W YA G3 5 GHIGE TGT ST § |

g2 ferggarama i R <fior @ swm g, &t

A) G %1 388 Y ufvem At 3l 43
A |

B) afémr ga vfem it s gg sT@an ? |

C) ¢ &l st |

D) Wi g & i IR gS S R |

& &8, HY fagaaes ai § gaha 8
+ iR

|. R % varef i wela o Pl w2
II. TergaaTa @ weret SHTgaTl @ |

1. g8 & st AT @ |

A) 130 | T &
B) | 3 i u&t &
C) Naminadh e
D) woft ot €

T goehIT &3 1 W@ T fargaares i W

e Y ferm Fft et &

A) foeaumn 6 R ut e &= ) e
L]

B) &= ) fawn w Sk frggaemu i fmm
RIE |

C) fergarerm <t fergm & wrar—an @ <t fewm
T

D) # &t frgmum fi Rmw i@ g hi

=
1 PECE



o TET

o

143.

144,

145.

146.

From the following phenomenon, which
one cannot be explained by assuming
light always travels in straight line ?

A) Refraction
B} Refiection
C) Diffraction
D) Transmission

image formed by plane mirror,
|. Double the size of the object
ll. Half the size of the object
[li. Same as the size of the object
IV. Laterally inverted
A) |is true
B) ltand IV are true

C) llland IV are true
D) All are wrong

What is the nature of the image
obtained from surface of the spoon
bulged outward and to what type
mirror we can approximate it to ?

A) Inverted and concave mirror
B) Inverted and convex mirror
C) Erect and convex mirror

D) Erect and concave mirror

An object is kept at infinite distance,
produces a bright and sharp image
on the screen kept at a distance X’
in front of concave mirror, then ‘X’ is
equal to

A) Radius of curvature

B) Twice of the focal length

C) Focal length of the mirror

D) Object distance
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143.

144,

145.

146.

Frafefiaa aftaeredt @ @ #F-dt =men
34 SEURON & WY e Y S aendt R
TR Geg e W@ f ST g ?

A) T

B) Y=

C) faeriq

D) TrowA

THAE qUOT g ST TR Wit
|. 9% % TR J EUFAT BN
Il Sg ¥ ATHR I 7T B
III. S % ATHR b T SRR I
IV. gredia Ie
A) T2
B) Il 3R IVaw
C) I 3fivaa i
D) @t araed 8

TG F e A AR N WIS I T
wftfem A wpfa = anft oit @ -]
YRR o T % e ot o wRan & 7
A) 32 AR AFGH YU

B) Icer 3R Iue gdur

C) diu 3R 3w gdm

D) diuy 3 SrEeet gdor

0 g0 R TEl g8 O g e AW &
e X T R T R T A A
witforar smelt &, o ‘%' SRR &

A) T i B

B) e gt % 2

C) zdor it i 0

D) sgHi gl
1 PECE
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147,

148.

149.

150.

If magnification m = +1.5, then 147, I @t m=+1.5%, @

A) Size of the image = size of the object, A) fferet 1 SRR = Fwg A SR,
real image qrfes Widfes

B) Size of the image > size of the object, B) witfe =1 31w > g A1 TR,
real image Ao ldfea

C) Size of the object > size of the C) g 1 SHR > Nfeifera <hr Srehr, Smreft
image, virtual image widferm

D) Size of the object is twice the size D) g 1 TR fcifera & SRR % S,
of the image, virtual image T Sfeifers

A pencil partially immersed in water | 148. sd ¥ iR &9 el O Gt 9y afi

appears to be displaced at the interface e % 3ieges R ufceenfia wRm aet T,

of air and water, this is due to Ig s o d ?

A) Tyndall effect A) fozat wie

B) Scattering B) wehiviq

C) Dispersion C) fgmu

D) Refraction D) 31

Arrange following in increasing order 149, fr=foRan it 35 gof srvadais & wed

of their absolute refractive index. TN § afeE Sifsm |

A) Water, kerosene, glass, diamond A) 5/, F0HH, wig, @

B) Kerosene, water, glass, diamond B) UM, 5el, Hig, €

C) Glass, kerosene, water, diamond C) =i, I, o, da

D) Water, glass, kerosene, diamond D) v, i, S0, da

How power of the lens is related to 150. i@ i wifeRs <fw i wiehm 30 @ e wm

focal length of the lens ? gaRE e ?

A) Directly proportional to f A) fﬁm&‘:mﬁqﬁﬁ

B) Directly proportional to % B) % | W& THTET

C) Directly proportional to +/f C) & yega grraTeft
, 1

D) Directly proportional to f—l— D) 7 /T AT

T ——
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Answer Ke Q. No. | Answer Key Q. No. | Answer Key

1 C 51 B 101 D
2 B 52 B 102 A
3 A 53 A 103 B
4 B 54 B 104 B
5 A 55 C 105 D
6 B 56 C 106 D
7 B 57 D 107 C
8 C 58 B 108 A
9 A 59 D 109 D
10 B 60 D 110 A
11 (%5 61 B 111 B
12 B 62 A 112 C
13 A 63 D 113 D
14 B 64 A 114 Cc
15 C 65 B 115 C
16 B 66 B 116 D
17 A 67 B 117 C
18 A 68 A 118 C
19 A 69 D 119 C
20 B 70 B 120 C
21 C 71 D 121 B
22 D 72 D 122 B
23 A 73 A 123 B
24 A 74 c 124 C
25 C 75 B 125 C
26 A 76 B 126 B
27 C 77 A 127 C
28 A 78 D 128 C
29 A 79 B 129 B
30 B 80 C 130 B
31 D 81 C 131 C
32 B 82 A 132 C
33 A 83 Cc 133 D
34 C 84 D 134 B
35 B 85 D 135 C
36 Cc 86 B 136 B
37 B 87 C 137 D
38 B 88 D 138 B
39 A 89 A 139 D
40 D 90 A 140 A
41 A 91 B 141 C
42 D 92 B 142 C
43 B 93 C 143 C
44 C 94 D 144 C
45 C 95 Cc 145 C
46 A 96 D 146 C
47 B 97 c 147 B
48 A 98 A 148 D
49 B a9 A 149 A
50 B 100 C 150 B

Answer Key for 1 PECE (Set-D)




